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All you need to know abhout...

Power Functions and Function Operations

Function Notation

Example:

/\d -5 =7 ()5

The Symbol f(x) is used in place of

f(x)isreadasf ﬁg_ X.

This notation- tjeans the value of the

functla

Domain of 2 Function:
The values of X at which you are able to
evaluate a function.
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Evaluatmg a Function using Function Notation

Evaluate the function: f(x) = 2x —5 | Evaluate the function: g(x) = x? +3
f@22()-5  f6)=-1 gDz () A3 gl
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f(=3)=3(-3)-5 N -- (4) = *3 q) =\
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Evaluate the function: h(x) = 2x 72 Evaluate the function: j(x) = x73—5
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Operations with Functions \ 2
. Example: f(x) = —x,
OPERATION Definition gix)=2x+1 i z\
_ h;w—/\f&w\
Addition hik) f () + g(x) ¥ )rl
’\(\xl = xt > il
)= - % - ng F)
Subtraction h(x) B f(x) a g(x) ___T_:__ﬂ X ';T_}J\ =
I(f = ——
b *}‘ = 3% o Ia)
Finding the Domain:
1. The domain of h(x) consists of the x-values that are in the domains of both
f(x) and g(x).

Example 1

Adding Functions

Let f(x) = 5x/3 and g(x) = 2x*/2 Find (a) the sum of the functions and (b) the domain of
the sum.

Solution: [ l Steps:
. ) v t e
Q  frgl= 5 Faw > C Sbshiute
= 3 7&‘]1 K_, (,Lm\mm he dicals
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Example 2

Subtracting Functions
Let f(x) = 4x/* and g(x) = 9x%/* — 3. Find (a) f(x) — g(x) and (b) the domain of the
difference.

Solution:

Steps:
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More Operations with Functions

ample: () = —x, 1)
OPERATION Definition R gg% D ™
h(x) = : =% H
Multiplication (X) f(x) g (JC) ;)(37( «
X > P
.._S{ _ II
* s
Division h(x) = f( ) PONES Iy X/ 9
gx)
Finding the Domain:
1. The domain of h(x) consists of the x-values that are in the domains of both
f(x) and g(x). -/
2. The domain of a quotient does not include x-values for which g(x) = 0
Example 3 Multiplying Functions
Let f(x) = 4xY/3 and g(x) = x*/? + 2. Find (a) f(x) - g(x) and (b) the domain of the
\ product.
N Solutio - Steps:
ol e ) Q) subos).

Example 4

Let f(x) = 4x'/3and g(x) = x/2. Find (a)
afb

Solution: L\ '|3
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Dividing Functions

f(x)
g(x)

¥ }(D Steps:

5l

(@) dshbale
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and (b) the domain of the quotient.
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One Last Operation with Functions

r 2 — I
OPERATION Definition Example: £ 88 = 23; +2, TN
@6 = {(ax)
Composition h(x) = f(g (x)) = 3 C;l;«) \r o
. hx Y
Domain:
, 0%
93)=2(3) f@aBN = £, g(fF0)) = g (3% +a)
. =3t - - 2(3x+)
Rl
K+ 3 =ng+‘-l -
Finding the Domain:

1. The domain of h(x) consists of the x-values that are in the domains of both

f(x) and g(x).

Example 5 Composition of Functions

o h X224
Let f(x) = 9x2/3 and g(x) = x/2.
Find: (@) () = §(x'*)

vy al3 o B
Ci(a ?hp : Iy DIX2O
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© g(g) = 3({‘?)

= (\f\\l;)‘]&: *k I
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(b) the domain of f(g(x)).

@ g(f(8) =

o(30)= 36 (30 €l

Example 6 Composition of Functions

Let h(x) = x? + 3x and g(x) = x — 2. Find (a) h(g(x)) and (b) the domain of h(g(x)).

h(j M) - h (%"95

0= a6"% G0/ =q-2y

: (ya)® +35D) stals
(%) e _
(x-3Yx=2) = A ¥ i




